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Sample Size: 1414 GB Adults
Fieldwork: 3rd - 4th June 2010

Weighted Sample

In order to stand as leader of the Labour party candidates
need to be nominated by 33 MPs. So far only Ed Balls, Ed
Miliband and David Miliband have got enough nominations
to stand. Some of the other candidates have appealed to
the Labour party's ruling NEC to relax the nomination
process to allow all the candidates to stand even if they
don't have enough nominations. Which of the following
best reflects your view?

The Labour party should allow all the candidates to stand to
give members the widest possible choice

The Labour party should only allow candidates with enough
nominations to stand - if a candidate cannot get the support of
33 MPs they could not possibly be an effective leader

Neither of these
Don't know

You

What the world thinks

Voting Intention Gender Age Social Grade Region
Total | Con | Lab | Lib | Male |Female|18-34|35-54| 55+ |ABC1|C2DE |London | RESLOF [Midlands 1\, | Scot-
South / Wales land
1414 486 | 400 | 243 679 735 386 | 532 | 496 | 778 635 181 460 303 347 123
% % % % % % % % % % % % % % % %
38 37 41 41 42 35 36 40 37 38 39 41 37 39 35 44
46 47 50 44 44 48 43 45 51 50 42 39 48 47 49 43
4 4 2 5 4 3 4 4 3 4 3 6 3 4 3 4
12 13 8 10 10 14 17 11 9 9 16 14 12 10 13 9
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